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General Instructions :
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The question paper comprises of two Sections, A and B. You are to attempt both the
sections,

All questions are compulsory

All questions of Section-A and all questions of Section-B are to be attempted separately.
Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence

Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered
in about 30 words each.

Question numbers 7 to 18 in Section-A are three marks questions. These are to be
answered in about 50 words each

Question numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words each.

Question numbers 25 to 33 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.
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9. Question numbers 34 to 36 in Section-B are questions based on practical skills are two
marks questions.

HM-31 / SECTION-A
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Differentiate between the movement of leaves of the sensitive plant and the movement of a
shoot towards light.
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Write the relation between electric power (W) of a device with potential difference (Volt)
across it and current (amp) flowing through it.
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Why is aBiogas plant a safe and efficient method of waste disposal. Justify.
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Write the name and formula of one salt each which contains :
(i) two molecules of water of crystallisation.

(ii) ten molecules of water of crystallisation.
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List two changes that are observed when fresh milk is kept in open at the room temperature
during summers for about a day. Name the substance formed and write its chemical test.
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Why is nitrogen considered an essential element ? How do plants acquire nitrogen ?
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How metals can be differentiated from non-metals on the basis of any three chemical
properties ?
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You are provided with magnesium ribbon and sulphur powder. Explain with the help of an
activity that metal oxides are basic and non-metal oxides are acidic in nature.
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(a)  How do acids react with metals ? Give two examples. What type of reactions are
these ? .

(b)  Write chemical equation for the action of sodium hydroxide on zinc granules.
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State the chemical formula of plaster of paris. How is it prepared ? State the common and
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chemical name of the compound formed when plaster of paris is mixed with water.
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Explain why there is a need for transportation system with special tissue or organs in plants
and animals 7
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Explain feed back mechanism to regulate the action of the hormones with the help of one

suitable example.
13 e S 7 % P Sl #ii gad i S 3
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Draw a diagram of human respiratory system and label onit:

(i} Diaphragm (ii) Larynx

14 mﬁwwﬁﬁmmmmﬁmwﬁmwwm%: 3
() oo g e e
(i) AT A e
i) AT 0 g e e
State the purpose for which the following rules are used :
()  Righthand thumb rule

{ii) Fleming's left hand rule

(iii)  Fleming's right hand rule
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Design an activity to demonstrate that a bar magnet has a magnetic field around it.
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What is meant by “electrical resistance” of a conductor ? State how resistance of a conductor is
affected when (i) a low current passes through it for a short duration; (ii) a heavy current
passes through it for about 30 seconds,
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Anita lived with her parents in a joint family in which almost every member had an
independent bathroom fitted with electric geysers. Anita persuaded her grandfather to
replace these by filling solar geyser on the roof and all agreed to this suggestion after hearing
her arguments,

(a)  List two values exhibited by Anita.

(b)  Explain how Anita succeeded in passing on these values to all members of her family .
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List any three parameters, which categories any source of energy as a good source of energy ?
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State one observation likely to be made for each of the following chemical reactions : |
(i) dilute hydrochloric acid is added to sodium carbonate.

(it) dilute sulphuric acid is added to barium chloride solution. |
(iii)  quicklime is treated with water.

(iv)  potassium iodide solution is added to lead nitrate solution.

(v) ammonium chloride solution is added to barium hydroxide
solution.
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()  Write chemical equation for the reactions taking place when:
(B Manganese dioxide is heated with aluminium powder.
(i) ~ Steamis passed over red hot iron.
(iii) Magnesium reacts with hot water.

(b)  The oxide X203 is unaffected by water. Name a method by which metal X can be
obtained from its ore. Give one reason as to why have you chosen this method ?
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(a)  State two points of difference between cerebrum and cerebellum.
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(b)  Explain the mechanism of reflex action,
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With the help of a circuit diagram prove that when a number of resistors are connected in

series, the equivalent resistance of the combination of resistors is equal to the sum of the
individual resistances of the resistors,

Calculate the equivalent resistance of the combination of three resistors of 5 {1, 10 2 and 30 )
joined in parallel.
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Describe with the help of a labelled diagram an activity to demonstrate the force acting on a
current-carrying conductor due to a magnetic field. Also show the effect of change in

direction of magnetic field and change in direction of current. State the rule to find the
direction of force based on the conclusion of this activity.
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State the law that governs the amount of heat produced in a metallic conductor when electric
current is passed through it for a given time. Also express this law mathematically.

Two resistors of 2 £ and 4 Q) are in turn connected (i) in series, (ii) in parallel to a given source
for the same time interval. Compute the ratio of total heat produced in the combination in two
cases.
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urT-a/ SECTION - B
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(a)  H250s (b) HCOOH
(c) CHzCOOH (d) HzCO3
Which of the following solutions with same concentrations will have lowest pH ?
(a)  H2504 (b) HCOOH
(c) CH3z COCH (d) H2COs3

2% a siviEa 7€ S v T TSR ST 1 T W § - 1
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No reaction is noticed when dilute hydrochloric acid is added to:
(a)  zincmetal (b)  sodium carbonate solution
(¢)  sodium chloride solution (d)  blue litmus solution

27 Wmmmﬁﬁmﬁmﬂmﬁ:m%: 1
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The suspension of calcium hydroxide in water is commonly called :
(@)  calcium hydroxide suspension

(b)  lime suspension

(c) lime water

(d)  quick lime

28 vfﬁ‘%@ﬁmﬁmmﬂmmmﬁmeﬁmﬁﬁMWEﬁwwﬁﬁﬁﬂﬂ 1

FuioEdagn®:
(a) 1 9w B |
(b) TERETwEAE
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Shanu added a few iron filings to 5mL of ZnSO; solution in a test tube. The correct
observation for change of colour will be:

(a) blue to pale green
(b) it remains colourless
(c) colourless to blue

(d)  colourless to pale green
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Four test tubes containing solutions are shown along with colours. CuSO; is contained in
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When in a circuit two or more than two resistors are connected in series, the qu.mhty
that remains same in them is :

(a)  Resistance (b)  Current

(c)  Potential difference (d)  None of these
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To perform the experiment of finding equivalent resistance of a parallel combination
of resistance, a student should join volvemeter and ammeter with the combination as :
(a)  both in series with it

(b)  both in parallel with it

(c) ammeter in parallel and voltmeter in series with it

(d) ammeter in series and voltmeter in parallel with it.
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A portion of each of four de-starched leaves of plant was covered with paper strips of various
colors. The plant was exposed to sunlight for 5 hours. Thereafter the strips were removed and
the leaves tested for starch in the covered portion. Which one out of the four leaves gave the
positive starch test in the covered portion?

(a) Thatcovered with black paper strip
(b) That covered with green paper strip
(c) Thatcovered with white paper strip

(d) Thatcovered with a transparent paper strip
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Arindam had to perform the experiment to show that CO; is given out during respiration.
The correct apparatus he would require for the experiment are :

(a)  Conical flask, NaOH solution, leaf, starch powder
(b) Conical flask, seed, KCl solution, bleaching powder
(<) Conical flask, soaked gram seed, KCl solution

(d)  Conical flask, soaked gram seed, bent tube, KOH solution

34 ferut weimeen | 2
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The following chemicals are available in solid form in a laboratory to study

(i) combination reaction
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(i)  decomposition reaction and
(iii)  double dispianemﬁt reaction.
State the chemicals that can be used in
(i) solid form and (ii) aqueous solution form to study the above reactions.

Calcium oxide, Ferrous sulphate, Barium chloride, Sodium sulphate.

35 mwmmm¢wmm|
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Calculate the Least Count of the given Ammeter and Voltmeter.
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Mention any two precautions that should be taken while preparing the temporary mount of
leaf peel.

~polobo-
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